TR\

Wh—+EHASG Wh-TEHAER W= s G AL
RYSAER ARG P RAER
TR 7 5k oo [ SHEANER )] PSR AR 0 | BX | K | &2 TR 7 5k oo | HEAYER @] FHOMEAGD| AR @0 | BX | K | &2 ARER o0 | HEAER o | PHERAER @1 | AMER o [ R | Ak | &
KRAER 35714.96 RRAER 33805.43 i 5000.00 YTy
FB— | 18471 | 129297 | 12000 | 130497 | 7 |51.65|4E8K #kE7A A | 43962 | 395658 | 12000 | 35169.6 | 8 [o0.00[EITK meEo.cx | PREARE | 211443 | 1725446 | 26000 i N R iy at il
k= 17284 | 120988 | 120.00 122188 | 7 [51.65|4E8% RRETA Tk= 2790.0 | 251100 | 120.00 223200 | 8 |60.00[KE1TK WEBO.BK  oor oo
rg= 1595.2 | 12761.6 | 120.00 112864 | 7 |55.65| 411K WRETA KR F | 345
riu 1440.0 | 115200 | 120.00 102000 | 7 |55.65|%11% skETA IE= 40947 | 32757.6 | 120.00 28782.9 | 7 [55.65KE114 RRETX NERRRE | 173 | RARER0N/100mD CE. ZEAAHE0N, TARKIOW
[EE 1440.0 | 115200 | 120.00 102000 | 7 [55.65|4E11k WRETA I 20933 | 110643 | 120.00 11843 | 7 |55.65EE11A whET X R | s 0.1 8/100m kD
[Ex 1124.4 8995.2 120.00 7990.8 7 |55.65|EE11A RRETA 1R BEH:1196.1 & 4 % 10%
Ik 1457.0 | 13113.0 | 120.00 11776.0 | 8 [60.00 B! 14 #E6.8X TEE 714 | 182333 | 120.00 18353.3 | 7 [51.65|¥E8 % #RETX
rEA 14440 | 12996.0 | 120.00 11672.0 | 8 |60.00 B! 14 ##E6.54 RRET#H:2180.0
TEh 1700.0 | 102400 | 120.00 8660.0 | 7 |55.65|¥E11k RRETA TEX | 37010 | 74020 | 120.00 3701.0 | 1 [10.50
RE#H1140.0 REHE | 1508.4 1508.4 15084 | 1 Ttk 5R
Ikt 1440.0 | 115200 | 120.00 102000 | 7 [55.65|¥E11k WRETA & 3 | 20246.3 | 133593.2 | 600.0 121019.5 N
ret- | 14400 | 115200 | 120.00 102000 | 7 [55.65|4B11k WRETA Mk 60.0% -
rEt= | 23045 | 13381.0 | 120.00 10765 | 7 |55.65|4E11k REETA % % | 307 (383.58)
RERA1442.0 NERRHE | 240 (RPTE80.2/100m™RE. REREE! 0#/100m™RD
& 3 | 18960.6 | 142595.3 | 1440.00 | 128530.2 ¥EBIRE | 120 B0.19/100m R
RYER 53.1% & & % | 10%
£ R % | 400 (it#3.60)
MNEFRYE | 058 R 280.2/100mRE. REREH.0%/100m %D
HEEuRE | 129 @0.1%/100mH®
g & X | 10y
|
-
7F
\ H=55.65m f@lﬂ - 3F H=11.65m
b=, ZEBSEANIRA233.16m?
P HERAA2166.56m*
H=26.00m/ 7F 4
H=55.65m
s 3F
.46 H=26.00m =
H=55.65m
F %E- S 3F
i [ FE S H=26.00m | 7
D &R N H=55.65m
S
S
o
S
& S,
H=60.00m o -«
51 23 'f?
F N
10.50m
6.08
I 8F
H=60.00m
38.00 15.00 | = TE§Am
I P TBA GFD)
~ 1F NI
7 5 "
o H=56.65m 5.0
o - S 5078 60.00 18.00 60.00 ; o0,
S . - rEt 27.31 $77
> Fgt= | &t 8F
O x . H=60.00m \f
I'E= H=51.65m 5 %
S S
7 T s
o H=55.65m 2 1=35.65m E 19.07
> o <o
= = rea | rex
[E= | TE® -
= 45— =
S o 44.20
60.00 46.85 o :
41.86 17.54 66.46 60.00 13.00 2 %
~ y » > ‘
/.
IR T 7 %6 10500 U
P
1. BVLER: BN, EhE%4EN4.
2. B AT, fihs BAHEHNA DA,
3. BRI EREFRAREANRR, RAMBKEZA—A.
4 ATERRA—ETV A TERAA—ETLE,
BTHEERAARRAAL TR, FhALARRATILRA.
5. ZBHEERAE 1 D& T, =~ \EREERRE 1.0 45T7,
-/
/ N

\\/

) N




